Addition and Subtraction Word Problems

1. John has 6 mangoes.

He gets 4 more mangoes. Number sentence

Altogether he has mangoes. Gl -

2. Ravi had 8 cherries.

His mother gives him 7 more. Number sentence

. * i
In all, Ravi has

cherries.

3. Abag costs $10.00

A pencil costs $7.00 Number sentence

The total cost of both items is ¢ i -

4. Peter had 15 plums in a bag.

He ate 8 plums, Number sentence

He now has

plums left. ' )

5. There were 20 bottles on a shelf.

6 bottles fell and broke.

Number sentence

There are bottles remaining. ' )

Mrs. Sookoo




